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QUESTION 1

Given the code fragment:

int x = 0;
do {
X++;
1f (x == 1) {
continue;
}

System.out.println(x):;
} while(x < 1):

What is the result?

A.0

B.0

C.1

D. The program prints nothing.

E. It prints 1 in the infinite loop.

Correct Answer: D

QUESTION 2

Given: Which two changes need to be made to make this class compile? (Choose two.)
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public interface API { //line 1
public wvoid checkValue (Object wvalue)
throws IllegalArgqumentException; //line 2
public boolean isValueANumber (Object wval) {
if (val instanceof Number) ({
return true;
jelse {
try {
Double.parseDouble (val.toString()):
return true;
}catch (NumberFormatException ex) {
return false;

A. Change Line 1 to an abstract class: public abstract class API {

B. Change Line 2 access modifier to protected: protected void checkValue(Object value) throws
lllegalArgumentException;

C. Change Line 1 to a class: public class API {
D. Change Line 1 to extend java.lang.AutoCloseable: public interface API extends AutoCloseable {

E. Change Line 2 to an abstract method: public abstract void checkValue(Object value) throws
lllegalArgumentException;

Correct Answer: CE

QUESTION 3

Given:
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public class Main {
public static void main(String[] args) {
int 1 = 1;
for(String s : args) ({
System.out.println((i++) + ") " + s8);

executed with this command:

java Main one two three

What is the output of this class?

A. The compilation fails.

B. 1) one 2) two 3) three

C. A java.lang.ArrayindexOutOfBoundsException is thrown.
D. 1) one

E. nothing

Correct Answer: B

QUESTION 4

Examine this excerpt from the declaration of the java.se module:

module java.se {
requires transitive java.sgl:

What does the transitive modifier mean?

A. Only a module that requires the java.se module is permitted to require the java.sql module.

B. Any module that requires the java.se module does not need to require the java.sql module.

C. Any module that attempts to require the java.se module actually requires the java.sql module instead.
D. Any module that requires the java.sql module does not need to require the java.se module.

Correct Answer: A
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QUESTION 5

Which two statements are correct about modules in Java? (Choose two.)

A. java.base exports all of the Java platforms core packages.

B. module-info.java can be placed in any folder inside module-path.

C. A module must be declared in module-info.java file.

D. module-info.java cannot be empty.

E. By default, modules can access each other as long as they run in the same folder.
Correct Answer: CE

Reference: http://tutorials.jenkov.com/java/modules.html
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